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I, , agree to neither give nor receive any help on this

exam from others. I understand that the use of a calculator or communication device on
this exam is academic misconduct. T also understand that providing answers to questions
on this exam to other students is academic misconduct, as is taking or receiving answers
to questions on this exam from other students. Thus, T will cover my answers and not
expose my answers to other students. It is important to me to be a person of integrity and
that means ALL ANSWERS on this exam are my answers. Any violation of these

guidelines will result in a penalty of at least receiving a zero on this exam.

Signed

Binary Choice (9 questions worth 2 points each)

1) Consider the ice cream market in a small economy. Suppose domestic demand and
domestic supply are both linear. When this market is opened to international trade, we
find, if the world pnce of ice cream is $8, it will export 10 units of ice cream; if the world
price of ice cream is $4, it will import 10 units of ice cream. Given this information and

holding everything else constant, what is the domestic equilibrium price of ice cream
when this market is in autarky?

a) $5

2) Suppose the CPI this year is 157. Assume the CPI is measured on a 100-point scale.
Given this information, which of the following statements is true?

@The nominal price of the market basket used to construct the CP1L is greater this year
than the nominal price of the market basket in the base year.
b) The real value of $1 this year is greater than the real value of $1 in the base year.
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Hard wn £5 3) Suppose goods A and B are perfect substitutes (so 1 unit of A is always perfectly
GOr iS4 substitutable for 1 unit of B). Suppose Alice knows her budget line includes the bundle of
_Aegre f 1 unit of A and 5 units of B and the bundle of 10 units of A and 1 unit of B. Given this
}/ gur 1] information and holding everything else constant, what can we say about Alice’s optimal
' consumption bundle?

@Alice will spend all of her budget on good A.
b) Alice will spend all of her budget on good B.

/\}@ +ho 4} Suppose John is running the local gadget factory. He observes that, at the current level »
hard of production, if he increases the quantity produced, the factory’s average variable costs "ﬂ -
increase. Given this information, which of the following must be true? ¢f

JAt the current level of production, the factory’s marginal cost is above its average
variable costs.

b) At the current level of production, the factory’s marginal cost is below its average
variable costs.

f\jg{!’ E”‘m,rag 5) Suppose in some market, the demand curve is twice as steep (in absolute value) as the

supply curve. Then if the government implements an excise tax, which of the following ‘f # e
statements will be true? i Vo I

a) Consumer tax incidence will be haif of the producer tax incidence. - f
)JConsumer tax incidence will be double the producer tax incidence.
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Some 6) Suppose the government knows that in both the markets for mustard and ketchup the

THCH T supply curve is given by the following equation where P is the price per unit and Q is
NoT A quantity of units of the good:

P=Q

but they don’t know the demand curves for each market. The government then
implements an excise tax of $1 in both markets and observes that the deadweight loss
greater in the market for mustard. Given this information and holding everything else
constant, which of the following statements is true?

a) The demand curve for mustard is steeper than the demand curve for ketchup.
b)/The demand curve for ketchup is steeper than the demand curve for mustard.

7) When a small economy opens its milk market to international trade, which of
following can never happen?

Mo 7 HARD

[;5\ Consumer and producer surplus in this domestic market both increase.
b) Producer surplus in this domestic market increases, and consumer surplus in this
domestic market decreases.
re
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EASY

8) Suppose the demand for ice cream at Memorial Union is given by the following

equation where Q is the quantity in units of ice cream and P is the price per unit of ice
cream:

Q¢=30-3P

Given this information and holding everything else constant, the revenue maximizing
price of ice cream must be:

(ayss.

b) $15.
{ AU 9) Suppose George only consumes Apples and Bananas, and George’s preferences over
HERE. - these two goods can be represented by standard bowl-shaped indifference curves.
[ ok MG Initially, the price of Apples is $1, and the price of Bananas 1s $2 and George’s available
. budget to spend on Apples and Bananas is $10. Given these prices and his budget,
fok i1 & George optimally purchases 2 Apples and 4 Bananas. Now suppose the price of Apples
BunpiE  increases to $2 and at the same time the price of Bananas falls to $1 (George’s budget for
THAT these two goods does not change). Which of the following bunflies cannot be optimal
A NN o after this change? (Hini: draw the two budget lines and the indifference curve tangent to
¢ 477 =  the original optimal bundle.)
BE
JFTINALT? @4 Apples and 2 Bananas
4 gii b) 2 Apples and 6 Bananas
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Muttiple Choice (20 questions worth 4 points each)

Use the following information for the next two (2) questions:

Nokia is a small, closed economy that produces only celiphones. The domestic demand
and domestic supply curves for cellphones in Nokia is given by the following equations,

where P is the price per unit and Q is the quantity of cellphones:

Domestic Demand: P =200 -(1/20) @
Domestic Supply: P =20+ (1/20)Q

The world price is $80 per cellphone.

f‘/’{g@icﬁﬁé@ - 10) Given the above information, if Nokia opens its cellphone market to international
fok b ~f  trade, how many cellphones will it import?

a) Imports = 600 cellphones

b} Imports = 900 cellphones
@mports = 1200 cellphones
Imports = 1800 cellphones

E A S-:{ R 11) Suppose Nokia opens its cellphone market to international trade while simultaneousty

__the government of Nokia implements a tariff of $20 per cellphone imported. Given this

p 4 @iﬁmg{ﬁf information and holding everything else constant, what is the amount of tariff revenue the
government will earn from the imposition of this tariff?

a) $4,000
(6))$8,000
¢) $12,000
d) $24,000
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Use the following information for the next two (2) questions:

Consider the following table of nominal share prices for Apple, Samsung, and LG.
Assume that 2010 is the base year and that the CP1 is measured on a 100-point scale.

CPI Nominal Apple | Nominai Samsung | Nominal LG
Share Price Share Price Share Price
2010 100 $100 $80 y
2018 150 $180 X $120

SopE woei( 12) Suppose LG’s real share price increased by 100% between 2010 and 2018. Given
b !ﬁ,@i this information, what was the nominal price of LG shares in 20107?
e \ N

a) $20
(By$40
c) $60
d) $80

13) Suppose Apple’s real share price was 20% higher than the Samsung’s real share

L aT 8 oF \ ,
%@_ﬂj N price. What must be the nominal price of Samsung shares in 2018?
SeMme a) $100

THod&H! 1) $125
RewuifED (Y3150
d) $200
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Use the fellowing information for the next fwo (2) questions:

Suppose Ingrid only consumes restaurant meals (R) and vacations (V) and her (standard
bowl-shaped) preferences are described by the following equations:

U=RV
MU=V
MUV:R

(Hint: The optimality condition for these preferences implies Ingrid will always spend
half of her income on each good. i.e., PvV = 0.5 = PgR)

Suppose her income is $200, the price of restaurant meals is $5, and the price of
vacations is $20.

N g7 P 14) Given this information and holding everything else constant, which of the following
AAD statements is true?

a) Ingrid will consume the same amount of é;estaurant meals and vacations at tlfﬂgiv n()zi NP T
price and income levels. Ne i sheipends ‘ZCTG M tneds =) Sp’a ¢t "“\17 o g e ;lu_ ;‘:_M Sipacsf s
@ If Ingrid’s income doubles, her consumption of both goods will double. 772:& -
¢) Restaurant meals are an inferior good for Ingrid at the given prices. Afs i~ 7R VE
d) Ingrid will consume more vacations than restaurant meals at the given prices and

income. A7 FRUVE

A e oF 15) Suppose the price of restaurant meals increases to $20. Given this information and
WK - holding everything else constant, which of the following correctly describe the income
p jecie A and substitution effects on Ingrid’s consumption of restaurant meals?

AW EET ! @ Ingrid reduces her total consumption of restaurant meals by 15 meals. Of this
duction, the substitution effect accounts for a reduction of 10 meaisf/and the income
effect accounts for the remaining reduction of 5 meals. v

b) Ingrid reduces her total consumption of restaurant meals by 10 meals. Of this
reduction, the substitution effect accounts for a reduction of 5 meals, and the income
effect accounts for the remaining S meals. ~

¢} Ingrid reduces her total consumption of restaurant meals by 15 meals. Of this
reduction, the substitution effect accounts for a reduction of 5 rnealéi< and the income
effect accounts for the remaining 10 meals. A

d) Ingrid reduces her total consumption of restaurant meals by 10 medls. Of this
reduction, the substitution effect accounts for a reduction of 8 meals, and the income
effect accounts for the remaining 2 meals.
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Semé 16} The inflation rate in Madison from 2015 to 2016 was -20%. Further, the inflation rate

iRk K from 2016 to 2017 was 25%. Suppose the nominal price of an apple was 35 in all three
HERE years. Using 2016 as the base year, which of following gives the correct real price for

apples over this time period?

a) The real price of an apple was $6 in 2015, $5 in 2016, and $6.25 in 2017.
b) The real price of an apple was $6 in 2015, $5 in 2016, and $4 1n 2017.
(€) The real price of an apple was $4 in 2015, $5 in 2016, and $4 in 2017.
d) The real price of an apple was $6.25 in 2015, $5in 2016, and $4 in 2017.

£ FA L GGG _,/1 7) Consider an economy with two types of workers: high-skilled workers and low-
skilled workers. Suppose the wage for high-skilled workers is higher than that for low-
skilled workers. The income elasticity of demand for coffee is the same across the two
types of workers. Currently, both types of workers consume the same quantity of coffee.
Suppose the wages for both types of workers have gone up by $10 and both types of
workers reduce their consumption of coffee. Which of the following statements is true?

a) Coffee 1s a normal gooc)f: Low-skilled workers will consume more coffee than high-
skilled workers after the income change.
b) Coffee is an inferior good. Low-skilled workers will consume more coffee than high-
illed workers after the income change.
@Coﬁee is an inferior good. Low-skilled workers will consume less coffee than high-
skilled workers after the income change.
d) Coffee is an inferior good. Both types of workers will consume the same amount of
coffee after the income change.
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SoME 18) Suppose the cross-price elasticity of demand for traditional workers and the price of

R robots is equal to 1 and the cross-price elasticity of demand for robots and the price of
traditional workers is equal to 2. Given this information and holding everything else
constant, which of the following statements are true?

T) Traditional workers and robots are substitutes for one another. 7/4¢<

II) If the price of traditional workers falls from $50 to $40, the demand for robots will
decrease by 20%. F#4LSE

II0) If the price of robots falls from $1000 to $900, the demand for traditional workers
will decrease by 10%. 7# V&

a} Only statement 1 is true.

(b)Only statements I and II are true.
¢) Only statements IT and [1I are true.
d) All three statements are irue.

54{){ 19) Suppose you are looking to estimate the price elasticity of demand for a market, but
you don’t know the demand curve. Initially, you observe an equilibrium price of $6 and
an equilibrium quantity of 8 units. However, after a2 major producer shuts down due to a
major factory fire, you observe a new equilibrium price of $8 and an equilibrium quantity
of 4 units. Using the midpoint formula for the price elasticity of demand, find an
approximation for the price elasticity of demand.

a) 1/6
b) 6
c)3/7
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Use the following information for the next two (2) questions:

Consider the market for earplugs in a small economy that can be described by the
following equations, where P is the price per pair of earplugs and Q is the quantity of
pairs of earplugs:

Domestic Demand Curve for earplugs: Q = 170 — 10P
Domestic Supply Curve for earplugs: Q = 20P - 10

Furthermore, you know this market is open to international trade and the world price of
earplugs is $3 per pair.

SoméE 20) The government decides to impose an import quota of 30 pairs of earplugs. What is
N the deadweight loss (DWL) due to the imposition of this import quota?
o
\ a7 ay DWL = 340
HARD - @D‘WL = $60
¢) DWL = $80
d) DWL = $120

21) Suppose the government considers implementing a policy that changes the import
quota to 100 pairs of earplugs. Holding everything else constant, which of the following
statements would be true if the government implemented this new import quota?

a) The economy would import 100 pairs of earplugs with this policy. W7 PRVE

b) The domestic price of earplugs would be $4 with this policy. Mo7™ 7RLE

¢) The government could replace this import quota with a tariff to make the imports equal
100 earplugs. Alot 7rsee.

dY There would be no deadweight loss if the government implemented this policy. 772¢£
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Use the following information for the next two (2} questions:

Suppose Alice only consumes 2 goods, good X and good Y. Suppose she has an income
of $100 that she allocates between these two goods. The following graph represents
Alice’s consumer optimization following an increase in the price of good X (moving
from BL1 to BL2). The points labeled A, B, and C represent tangencies between Alice’s
indifference curves and her budget lines.

Y

N PointA:X =5, Y=5
\ Point B: X =05,Y=9
10 \ PointC: X =3, Y=8

AA . @d Medna 73 =2
{W&W Bis %/{’?55
‘fz LhYs D)
L T Xz =D Xisnsernl )y
(d)g) Aoy Freus "}f’ﬁ%

22) Given the information above and holding everything else constant which of the
following statements are false? ~3 Lo /'a,f, J‘, FALie

@o‘[h good X and good Y are normal goods. fALYE

b) The substitution effect f‘rom the incre%s%n ;ile price of good X results in a decrease in

the consumption of good X. 7 rut P RX3 :

¢) Alice prefers point C over point B. 7l = /C, « ﬁ"m” M”’ﬁ’f"“‘ 4 sz’h then /C2

d) After the price increase in good X, the price of good X is double the price of good Y. Frie =3
b Lot droovns S cmé‘;ﬁé&f 20 eppreds sﬁ/mf} ol -r;:)){

23) Suppose, after the increase in the price of good X, you wanted to compensate Alice

just enough so that she could just afford her original level of utiity. How much money

would you have to give Alice to achieve this goal?

a) $5 ; cme T LD 4 =D po /A /5@
b0 L S T e
d) $50 = £70 -
}fﬁg fff‘?@w /0o m&e% &W/fi{g%’g/c C é’é’ff’?/?
fx - #2 39,@% DA = 3(20) =60
Fy =¥7¢e icoi? 77 ) =7 FC7¢) 2 94 o2

s > ! %
frgen” /’f‘f-‘f 1) 70

]@ra
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NoT 72 24) Suppose a firm faces a schedule of costs given by the following graph:
47D S

Costs

T R ...&q

Given this graph and holding everything else constant, how many of the following
statements are true?

e When this firm produces ten units of the good, its total cost is $70. FRUE
e When this firm produces ten units of the good and sells its product for $7 per unit,
then this firm’s Total Revenue is equal to its Total Cost. 7X¢&

e Since the vertical distance between the ATC and AVC curves narrows as the level
of output increases this implies that Fixed Cost decreases as the level of
production expands. /4 LVE

e Given the Marginal Cost of producing one more unit of the good, we can
conclude that the ATC is decreasing as output increases while the AVC 1s
increasing as output increases. fALSE

a) One statement is true.
@Two statements are true.

¢} Three statements are true.

d) Four statements are true.

1ot ATCET D ATCE TG D TC - pre = F o) Fo
TR =@ = Flio) = Fo “

7C = Fu B o “

47C &t T (el ) produacti /; bup FC n cowotund 4 .

¢ ) Pyl . ra —_— / o P70 M‘;z
AT C L oo g J gt reach [0 Lmjﬁg TR ﬁf/cﬂ A éuézﬂ 2%
AVC | o guipat 7 antlwe reach Sacs, g AC T 20 s0tpic

%

LY

G
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25) Suppose the US Post Office is trying to set the price of stamps to maximize revenue.
Suppose the demand for stamps is given by the following equation where P is the price
per stamp and Q) is the quantity of stamps:

P=2-00010Q

The US Post Office knows that, at the current price, the demand for stamps is elastic.
Given this information, which of the following statements must be false? «., /o0 /};,g,ﬁ /éw e SE ,’j

@Raising the price per stamp would increase total revenue for the US Post Office. /745&

b) The current price of a stamp must be above §1. 7#¢E n
c) The current quantity of stamps being sold must be lower than 1000 stamps. 77/4¢/ &

d) The price elasticity of demand at the current price is greater than 1. 7A¢/E
oo

e X ef P=0= J= ,000& , 00/, ) 2,000,
. g

ot G e
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Ne7 HARD

NoT 7
342

Use the following information for the next two (2) questions:

The following table expresses the output quantity a factory can produce given the number
of workers hired and the number of units of capital used.

Suppose each worker is paid $100, and each unit of capital costs $200. The firm can

adjust the number of workers it hires, but it cannot immediately adjust the amount of

capital it uses.

26) What is the marginal cost to the firm of producing the 3rd unit?

a) $200
‘:Da400
c) $700

d) $2700

27) Given the above information and holding everything else constant, what is the

mc= ATC

AQ

;F[_‘ ‘e 2 uun??’ = Agod+3od =
B )Uur)‘f J—Ocldf—%,} = .-3—7‘{?6
ATC/AQ = AF00-33¢0 = 4y

7 C

Mmc= —

average total cost to this firm of producing 4 units of output?

a) $300
)$ 600

c) $2000

d) $4000

AT 1) protecy

Are = 3200 - 8§00 f)]AA/fu@éigl

7C g ey AP 0ty

il =
Ytepaits 0 /a’r?}c’uf'

L300

6}
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Frye bntw‘ol”’c*
Quantity produced Number of workers used | Units of capital used Lot Co: £
0 0 10 Qoco 0O
1 1 10 Qpoo Joo
2 3 10 Jeot | Bob
3 7 10 AT ?“o“&
4 2 10 sevv | /40w

JRo0
77:
G
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Use the following information for the next ftwo (2} guestions:

Consider the market for Picasso paintings. Since Picasso has been dead for some time,
the supply of his paintings is perfectly inelastic. The supply curve for his paintings 1s
given by the following equation where Q is the quantity of paintings:

Supply Curve for Picasso Paintings: Q = 1000

Suppose the demand for Picasso paintings 1s given by the following equation where P is
the price per painting:

Demand Curve for Picasso Paintings: P = 12000 — 5Q

TH e A+ 28) Suppose the government decides to implement an excise tax of $1000 per painting on
\OE this market. What will be government tax revenue, consumer tax incidence, and producer

IR L tax incidence when this policy is implemented in this market?

{ HALLENG R _ _

@; LET 100 a) Government Tax Revenue = Consumer Tax Incidence = Producer Tax Incidence = $0. X
b) Government Tax Revemie = $1,000,000. Consumer Tax Incidence = Producer Tax
Incidence = $500,000. X
¢) Government Tax Revenue = Consumer Tax Incidence = $I,OO0,000>;<Producer Tax
[ncidence = $0.

d)Government Tax Revenue = Producer Tax Incidence = $1,000,000. Consumer Tax
Incidence = $0.

EXAM CONTINUES ON NEXT PAGE

M

-, ' V;m i lgl o
f A Q'ﬁ@f‘s FMMZ&.?} m‘i/ﬁ s c’.M’y EAV Y fw y%hw} ; ;
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/
=Pz £ = Food e Iy
bow -~ fut o N el il € Y 20@@
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The foliowing question uses the information from the previous page.

f‘;’-ﬁﬁf) ! 29) Suppose counterfeiters realize that producing fake Picasso paintings 1s very lucrative,
so now the supply of paintings is composed of the original 3 = 1000 real paintings, plus
an amount of fake paintings given by the following equation where Qg 1s the quantity of
fake paintings and P is the price per painting;

Supply Curve for Fake Picasso Paintings: Qg = P — 1000

(Suppose these fake paintings are of sufficient quality that they are indistinguishable from
the real paintings.} Given the above information and holding everything else constant,
which of the following statements are true?

) The supply of paintings is now more elastic than before provided the price is at least
$1000. FRukz: See inape belferi-

1) If the government imposes the $1000 excise tax as described in the previous question,
consumer tax incidence will now be greater after the introduction of counterfeiters into
this market. 7 7ve

IIT) If the government imposes the $1000 excise tax as described in the previous question,
producer tax incidence will now be greater after the introduction of counterfeiters into
this market. /4,56 _

IV) If the government imposes an excise tax of at least $6000 per painting in this market,
there will be no counterfeit paintings sold. 777 ¢&"

a) Only statements I and 1I are true. :
b} Only statements II and II are true. T
@ﬂ)n}y statements I, IT and IV are true.
d) Only statements I, 111, and IV are true. , Mk gmmg i7
¢ el Skalce. ¢ 1t

{7 P S.%.H‘U&

o> {7 oo |-

>, A A
P 5‘;,‘/’ ‘ o008 r {MM%W : -

Poss b Slophn] COET 0 oitlee it V1o = O Claat o)

i o ¥y

AT wif ﬁ{_;@ f)q'wp‘mk?f § ipeie ool 2

, r s
Foe 1 7 R CPT] wjo fake pconbhis f
oD ~F; — of Ak pedrirg) e 7%/‘;’0@ e
Ef ;;isgzﬁ%{;f /#?Z«m@é' CAHALLENCINE T3 TLE !
fooo [ T fee Dprea-

ST TRVE
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